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The figures in the margin mdzcate ﬁzll marks
_for the questions

Answer either in Enghsh or in Assamese

1. Answer the following questions : - 1x10=10
O e b o
(@) What is Pareto optimality?
- o I R 2
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(b)
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(2)

Is there transportation cost under
perfect competition?

9 RO TS ARTE T ST 2
What is market failure?
5[ Reerer 2

What is the shape of MR curve under
second degree price discrimination?
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Define supernormal profit.
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What is a perceived demand curve?
S bk a0 R 2
Write correct or incorrect :

“Under ‘monopolistic competition, there
are a few sellers.”
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( Continued.)

(8)

(h) What is oligopoly?
AR TwR 2

) What is meant by moral hazard?
Ao Roifs vt R 3am 2 " |

() What is a two-person game?

fa-afe w2
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2. Answer the following questions : 2x5=10

o 2PIRES Tl e

(a) What is a contract curve?

e R

(b) Mention two unportanf. charactens’ucs
of public good. :

-
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(c) What is product differentiation?
S e {2
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(4)

(d) Mention two applications: of game
theory.
T O Y51 2ICA SeEe 1 |
(¢) What is information A.a.‘symr‘_r‘lehy?
YR S 2

Answer any four of the following questlons
5x4=20

| Wﬁmﬁaﬁmsﬁﬁawm:

(@) Explain briefly equilibrium and
efficiency under pure exchange..

4f Rfvrr crae oemel wIe el I
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(b) What is Coase theofem? Explain.
T RramE -

(c) Ezxplain the ‘prisoner’g dilemma’.

Wﬁ*ﬂ’mwn
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(d) How is the peakload pricing done?
Explain.

ﬂz#rwm-{mﬁmﬁawm?mwu

(e) Explain the Bertrand equilibrium.
RO SIS I F901

() Briefly explain the concept of adverse
: selection.

eri%faﬁaﬁwm%mzﬁmwwn

v

Answer the following questions : 10x4=40
ToR RS T fawn

{a) Discuss the - - equilibriuni - price

~and output determination under
. monopolistic competition.

aw@wa%mﬁrwwmﬁaw

oo RdfRe Sz 9490 |
Or./9%1
Compare perfectly b " competitive

equilibrium with monopoly equilibrium.
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(6)

.(b). Discuss the equilibrium of two-person
zero-sum game with maxi-min and
mini- max strategles
‘R o RR-c c%t*m RS
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Discuss -the - -problems associated
with the markets with asymmetric
mformatlon

wﬁaww«aﬂ‘wﬁ?ﬁm
TG 3 |

() Discuss how Pareto efﬁci'ehcy in
production is achieved. o
Beoe (R ROl OMA iYW,
SCATo 41 |

Or /a4l

How are equilibrium price and output
determined under third degree price
discrimination? Discuss.
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(d) Discuss how production possibility -

frontier and social indifference curve
determine allocative efficiency.
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Or /9T .

Discuss how both positive . and
negative externalities can lead to
market failure. : :
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